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QUESTION 1

You are the architect of an existing project. Making changes to one component frequently requires making changes to
many other components. Which action would reduce future maintenance costs?

A. Redesign the configuration and deployment.

B. Add an abstraction layer between the servlets and the EJB components.
C. Convert all stateful EJB components to stateless EJB components.

D. Expose the existing EJB components as web services.

Correct Answer: B

QUESTION 2
Your consulting company has been asked to enhance an existing application. The current application is a
100% Real QandAs | 100% Real Pass

two-tier system in which all the business logic is located in thick clients. You are considering a solution that would
involve moving the business logic into the server\\'s database In the form of stored procedures.

Which statement is an expected outcome of your proposed solution?
A. It will improve the scalability of the system.

B. It will improve the manageability of the system.

C. It will recline the amount of traffic on the network.

D. It will, in effect, turn the application into a three-tier system.

Correct Answer: B

QUESTION 3

Which four services are guaranteed to be present in a specification compliant Java EE container?
A. Security

B. Persistence

C. Naming and messaging

D. Remote connectivity

E. Failover

F. Lifecycle management
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G. Multithreading handling
H. Load balancing

Correct Answer: ABDF

QUESTION 4

Which two are primary concerns for a service-oriented architecture (SOA)?
A. Low cohesion

B. Loose coupling

C. Session handling

D. Well defined contracts

Correct Answer: BD

QUESTION 5
Which two measures are most effective in protecting websites from cross site scripting (XSS) attacks?

A. Escape " parameters that displayed or evaluated by the JavaScript interpreter.

B. URL-encode "'parameters so they will never be evaluated by the JavaScript Interpreter.
C. Ensure that the session cookie is sent only on UTTPS connections.

D. Treat all user-supplied input as unsafe, and white list known good characters

E. Execute all user-supplied scripts in a server-side sandbox.

Correct Answer: CE
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